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101|R#A7 L 473 109 364 Kg |EE 1,512 216| 2,160 432
102|357 L 1,639 1,639 Kg BIE 1,566 355
111|&EEF £ 185 13 172| Kg |ERS 1,188 BRE - &4 1,728 454
113|RAV S 24 12 12| Keg |EE& 1,080 648|FLE 3,024 1,296
114|B5EFE 201 51 150 Kg |ERS 1,188 1,080\ RS - 8BE 2,700 540
15[ 1= 1 1| Keg |EE 860 A& 4,320

117[1E 992 141 851| Kg |EE 2,592 216| 3,780 540
21| bl E 31 22 9 Kg |ERE 864 216| ) 648

134[#= = 516 253 263 Kg |EE 2,000 540| £ 2,376 1,296
137|&5E.3. < 15 15| Kg K5 3,834

140(5 I 17 17| Kg e[AEs 28,800 2,919
147|EZ O 126 126| Kg |EE 7,022 BEAS - iR 17,280 4,000
158|EIEA A LS 235 235| Kg BiE 2,160 1,296
201{Lvb L 358 358| Kg imE - R 1,080 400
203|/hd L 104 104| Kg R 378 54
205|3.3 L 664 664| Kg FfE 576 324
206| = 1F 776 776|  Kg ERE 1,296 302
208| Mo % 340 22 318 Kg |B&iR 324 4] 1,404 270
2094 B & LA 140 140 Kg X 810 783
210{1F AL 156 140 16| Kg |EI& 6,750 1,026| K% 2,970 2,430
212|&5E.3 Y 122 122| Kg K5 1,998 1,242
222|052 120 120| Kg = 540 396
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251K A FELCH 186 186 Kg |RIF 3,002 2,376

252|LWAEECA 55 55 Kg E2p;] 1,674 1,566
254|ED12ELCA 531 531| Kg 2P 1,998 1,058
3031 A 7Ly 17 10 1 Kg [R& 648 605 )& 864
305[£Aah 0% 6 6] Kg =9E 4,320 2,484
306|L e k) 24 24 Kg |RIE 864 696

315|7: B9 6 16 16| Kg = I 3,780 3,672
319|h o 797 116 681 Kg |AJl 378 FNN - REB 2,376 432
33213 WA =EF 132 132] Kg bF 2,160 2,052
3bl{HHV 15 151 Kg FEE 3,996 3,780
35411Fx£ <Y 70 50 20| Kg |FFE 1,620 1,080|F% 1,728 1,620
355(mp Y 160 160[ Kg FH - P E 1,728 600
356(L L& 35 35 Kg SER 1,512 972
357|7RE 5 5] Kg = 3,888

358|KE 25 15 10 Kg [EHM 1,620 FAN 1,728

362| & 9 3 6| Kg [&=E 648 FJE 1,620

401|H W 67 67 Kg Iz & 2,160 1,620
4025 & 40 40| Kg A0 6,480 3,780
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512| A& AL 56 56| Kg b 1,400 1,150
523| A EARAT 2 O 485 485| Kg =] 2,376 473
54| ARE & 2V 128 128 Kg Bh 1,620 1,320
558|# 69 69| Kg b 1,296 324
560|472 276 276| Kg Bh 3,500 1,650
57648 & 1F 86 86| Kg R 9= 2,430 324
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70110 BA 3,750 3,670 180 Kg [EE 2,376 1,200(&E 1,512 1,188
71019 2 ®HA0F 7 71 Kg Ko 1,119
BlBEFALANIN 9 9] Kg s 1,103
755(Fd L 18 18 Kg B 710
76l|1b Y AEE 12 12 Kg FJE 2,314 2,160
01 [IBAL = 1T 64 64 Kg == 1,728 1,458
802|1 x| 20 201 Kg mE 1,242
8051 1E 120 1201 Kg JbiF 1,058 605
810|FAKF 80 80 Kg bF 2,160 1,296
8lh|—W T AX 10 10 Kg blo ] 540
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